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MNU 4-11a Assessment 3 Silver Level
Name:
Score: —— Percentage: %
Class: 5
Outcome 1 Outcome 2 - Imperial Measures - Length

Area of a triangle, kite and rhombus

Calculate the area of the
following rhombus...
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Change the following units of length.. . e
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The distance from Glasgow to Rome is
® 1555 miles. What is this in kilometres?

Selhurst Park is 72 yards wide.
9 How wide is this in centimetres?

Conversion tables...

Unit | Abbrev. | Metric

inch inor™ [ 254 cm || Unit Abbrev. [ Metric
foot [ ftor' | 3048 cm || ounce 0z 28-35¢
yard yd 91-44 cm || pound Ib 453-59 g
mile | miorm | 1-61 km stone st 6-35 kg

Outcome 3 - Imperial Measures - Weight
Change the following units of weight.. ==
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4 A baby's bottle contains 14 oz. :f;;%
What is this weight in grams? ‘

Gillian recently achieved her target
weight of 8-5 stone. How much is
this in kilograms?
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